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(6) X(t)= Ax(t)+bu(t),  x(0)=x,
(7) y(t)=cx(t)+du(t)

A x(t)=[x1(t) X, (t)]T %k b v B (state vector) > Bl 2 #4775 AERE A N 2 % s
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(8) x(t)=e™x, +j;eA(t")bu (r)dz
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©) y(t)=cx(t)+dult)=ce™x, + jot ce™bu(z)dz +du(t)

B X[t Zy(t) 7 agd AR R A E T F S o PR A S
Bos i B @ 5 > 7 MATLAB G2 2.4 4 % iRt > 7 72 =
PE % S5 B

%, (t)=x,(t), x:(0)=1

%, (t) = —3%,(t)— 4x,(t)+u(t), X>(0)=0

y(t)=2x(t)-x,(t)

# ¥ u(t)=sin(cos5t) -

Create m-file: second.m
function dx=second(t,x)
dx=zeros(2,1);
dx(1)=x(2);
dx(2)=-3*x(1)-4*x(2)+sin(cos(5*t));

>> % key in the following instructions
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>> [t,x]=ode45(@second,[0:0.01:6],[1 0])
>> y=2*x(:,1)-x(:,2);
>> plot(t,y); xlabel('t’); ylabel(‘y(t)’)
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= At b A(t-r)
—A(e Xo+_[oe bu(r)dr)+bu(t)
= Ax(t)+bu(t)

4o(B) N T o I

F LTI s 8 (@) (7)a 3% 5 SFH5 » fl- A IF-FF E R
(Cayley-Hamilton theorem) % #& % #14p ¥+ & <5 ODE-CC -

Sy A:{aﬂ M2 | 0 g P % T T
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Q- —
W) p(a)=|at-a=|" M T
—a, /1—6122
(15) p(/t) =1 +ad+a,

B¢ a=—(a,+a,) ’ ay=a,d, —ay,d, * FHEVG-F A FAERET o
(16) p(A)=A2+a1A+aOI =0

#FFHFTAD)S 2 AN B I H B2 B

(17) Y(t)+ay(t)+ay(t)

He

(18) y(t)=cx(t)+du(t)

(19) y(t)=cx(t)+du(t)=cAx(t)+cbu(t)+du(t)

(20) y(t)=cAx(t)+cbu(t)+d(t)
=CcA’x(t)+CcAbu(t)+cbu(t)+d(t)

mx (A7) 7 F

(21) Y(t)+ay(t)+ay(t
=c(A*+ oA+, ) x(t)+dii(t)
+(cb+ed)u(t)+(cAb+ach+ayd)u(t)

d g gk B RET o Ao Ata,l =0 0 F)p

(22) Y(t)+ ey (t)+apy(t)=Bu(t)+ Bu(t)+Su(t)
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#¢ B =d f=cb B =cAb+ach+a,d » 5L y(t) &8~ u(t)
2_H e ODE-CC -
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